tEEENTV7IEE -FAEE]

2025% S5A% MHEEFREBEMOSHLE

TRIIWAHNDTHEESY. E<EILBALLIFET
BHOBIHECEFTNIMMESFAREMEZ. TEEOBYEHMOELEY,

anj
cu

PAM B FER Rl = (DR B RBEME +QENENRBHEE

BEDIGE A 3.06|M/kWh
HAEEDIGSE B 2.98|H/kWh

BRI LR/NT—

(1) MR B AR E M= (EH R EHETE —37,200M) x E#EB{M 1,000 =

BEDSE

3.06

202412 A ~20255F2 A FHDE S aHEE

BABEDNSE

2.98

A: 1KY O TR iE 75,519 [ o: 0.4699
B: 1tH =YD FHLNGSTEHE 96,530 M 0.0000
C: 1t&H1=Y DFEHY A mEAfhitE 22,788 M r: 0.7879
FEHRRFMER = Axa +BxB +VXxy =53400H  (100MRHEERA)

(2) NENAERBEMH=A<BDEE. BT HFHEEM=(A—B)x50% x (1 +HEFHE)
A>COIGE ., HNENABEM=(A—C)x50% x (1+HEMHREK)

A: BIADIT7 IS4 RFEHIE (Fitk) 9.95
B: ZEFBALEM Tk 8.00
C: BhnFREEEEE (Fitk) 18.00

F/kWh
F/kWh

[SE=-%: 1A

0.189 M

Fral e EELEE

0.184 M

0.00

0.00

F/kWh
F/kWh

UL




REBENTIVZIEE-FHAIEE]

2025% S5A% MHEEFREBEMOSHLE

TRIIWAHNDTHEESY. E<EILBALLIFET
BHOBIHECEFTNIMMESFAREMEZ. TEEOBYEHMOELEY,

anj
cu

PAM B FER Rl = (DR B RBEME +QENENRBHEE

BEDIGE A 4.32|M/kWh
HAEEDIGSE B 4.18|M/kWh

Premsz

BRI LR/NT—

(1) MR B E M= (CEH RIS —31,400M) x E#EB{MH 1,000 =

BEDSE

4.32

202412 A ~20255F2 A FHDE S aHEE

BABEDNSE

4.18

A: 1KY O TR iE 75,519 [ o: 0.1152
B: 1tH =YD FHLNGSTEHE 96,530 M 0.2714
C: 1t&H1=Y DFEHY A mEAfhitE 22,788 M r: 0.7386
FEHRRFMERE = Axa +BxB +VXxy =51,700 F  (100MRHEERA)

(2) NENAERBEMH=A<BDEE. BT HFHEEM=(A—B)x50% x (1 +HEFHE)
A>COIGE ., HNENABEM=(A—C)x50% x (1+HEMHREK)

A: BIADIT7 IS4 RFEHIE (Fitk) 10.36
B: ZEFBALEM Tk 7.00
C: BhnFREEEEE (Fitk) 14.00

F/kWh
F/kWh

[SE=-%: 1A

0213 M

Fral e EELEE

0.206 M

0.00

0.00

F/kWh
F/kWh

UL




RRBENIVZI[EE-HAIEE]

2025% S5A% MHEEFREBEMOSHLE

TRIIWAHNDTHEESY. E<EILBALLIFET
BHOBIHECEFTNIMMESFAREMEZ. TEEOBYEHMOELEY,

anj
cu

PAM B FER Rl = (DR B RBEME +QENENRBHEE

BRI LR/NT—

EEDOEA A 4.30|M/kWh
HASEDGE Bid 4.24|M/kWh
(1) AR B BRI 2 B = (P9 R HliA% — 44,200 ) x E#EE{H 1,000 = BEDGE 4.30|F4/kWh
20244128 ~2025% 2 A EH DB S HT1& HAlBEDEZE 4.24]M/kWh
A: 1KY O TR iE 75519 A o: 0.1970
B: 1t&H 1Y D FHLNGlE 96,530 M 0.4435 = E A B iff 0.224 H
C: 1tH1=YDTHA R 22,788 M 7 0.2512 el = R A 2 B Al 0.221 /M
FEHRRFMERE = Axa +BXB +VXy =63400H  (100MRHEERA)
(2) NENHBEM=A<BDIGE. HENFBEM=(A—B) x50 x 1 +HEHRE) = 0.00]F4/kWh
ASCOiGE . HENRHEBHEM=(A—C)x50%x (1 +HEREK) = 0.00]F4/kWh

A: BIADIT7 IS4 RFEHIE (Fitk) 11.45
B: ZEFBALEM Tk 7.00
C: BhnFREEEEE (Fitk) 14.00

UL




PERENTI7[EE-FAEE]

2025% S5A% MHEEFREBEMOSHLE

TRIIWAHNDTHEESY. E<EILBALLIFET
BHOBIHECEFTNIMMESFAREMEZ. TEEOBYEHMOELEY,

anj
cu

PAM B FER Rl = (DR B RBEME +QENENRBHEE

BEDIGE A 2.72|M/kWh
HAEEDIGSE B 2.68|H/kWh

premz

BRI LR/NT—

(1) MR B AR Bl = (CEH R EHEIE —45,900M) x E#EB{M 1,000 =

BEDSE

2.72

202412 A ~20255F2 A FHDE S aHEE

BABEDNSE

2.68

A: 1KY O TR iE 75,519 [ o: 0.0275
B: 1tH =YD FHLNGSTEHE 96,530 M 0.4792
C: 1t&H1=Y DFEHY A mEAfhitE 22,788 M r: 0.4275
FEHRFMERE = Axa +BxB +VXxy =58100F  (100MKHEERA)

(2) NENAERBEMH=A<BDEE. BT HFHEEM=(A—B)x50% x (1 +HEFHE)
A>COIGE ., HNENABEM=(A—C)x50% x (1+HEMHREK)

A: BIADIT7 IS4 RFEHIE (Fitk) 9.83
B: ZEFBALEM Tk 5.00
C: BhnFREEEEE (Fitk) 13.00

F/kWh
F/kWh

[SE=-%: 1A

0.223 M

Fral e EELEE

0.220 M

0.00

0.00

F/kWh
F/kWh

UL




EEEATIVZIEE-FHIEE]

2025% S5A% MHEEFREBEMOSHLE

TRIIWAHNDTHEESY. E<EILBALLIFET
BHOBIHECEFTNIMMESFAREMEZ. TEEOBYEHMOELEY,

anj
cu

PAM B FER Rl = (DR B RBEME +QENENRBHEE

BEDIGE A 3.28|M/kWh
HAEEDIGSE B 3.24|M/kWh

BRI LR/NT—

(1) MR B E M= (CEHY RIS —21,900M) x E#EB{MH 1,000 =

BEDSE

3.28

202412 A ~20255F2 A FHDE S aHEE

BABEDNSE

3.24

A: 1KY O TR iE 75,519 [ o: 0.2303
B: 1tH =YD FHLNGSTEHE 96,530 M 0.0000
C: 1t&H1=Y DFEHY A mEAfhitE 22,788 M r: 1.1441
FEHRRFMERE = Axa +BXxB +VXxy =43500H  (100MKHEEERA)

(2) NENAERBEMH=A<BDEE. BT HFHEEM=(A—B)x50% x (1 +HEFHE)
A>COIGE ., HNENABEM=(A—C)x50% x (1+HEMHREK)

A: BIADIT7 IS4 RFEHIE (Fitk) 9.57
B: ZEFBALEM Tk 5.00
C: BhnFREEEEE (Fitk) 13.00

F/kWh
F/kWh

[SE=-%: 1A

0.152 [

Fral e EELEE

0.150 M

0.00

0.00

F/kWh
F/kWh

UL




EREENTIVZIEE-FHIEE]

2025% S5A% MHEEFREBEMOSHLE

TRIIWAHNDTHEESY. E<EILBALLIFET
BHOBIHECEFTNIMMESFAREMEZ. TEEOBYEHMOELEY,

anj
cu

PAM B FER Rl = (DR B RBEME +QENENRBHEE

BEDIGE A 3.79|M/kWh
HAEEDIGSE B 3.74|M/kWh

PIeImz

BRI LR/NT—

(1) MR B E M= (CEYREHEIE —27,100M) x E#EB{M 1,000 =

BEDSE

3.79

202412 A ~20255F2 A FHDE S aHEE

BABEDNSE

3.74

A: 1KY O TR iE 75,519 [ o: 0.0140
B: 1tH =YD FHLNGSTEHE 96,530 M 0.3483
C: 1t&H1=Y DFEHY A mEAfhitE 22,788 M r: 0.7227
FEHRRFMERE = Axa +BxB +VXxy =51,100F  (100MRHEERA)

(2) NENAERBEMH=A<BDEE. BT HFHEEM=(A—B)x50% x (1 +HEFHE)
A>COIGE ., HNENABEM=(A—C)x50% x (1+HEMHREK)

A: BIADIT7 IS4 RFEHIE (Fitk) 9.44
B: ZEFBALEM Tk 5.00
C: BhnFREEEEE (Fitk) 13.00

F/kWh
F/kWh

[SE=-%: 1A

0.158 M

Fral e EELEE

0.156 M

0.00

0.00

F/kWh
F/kWh

UL




PEEITI7I[EE-FEE]

2025% S5A% MHEEFREBEMOSHLE

TRIIWAHNDTHEESY. E<EILBALLIFET
BHOBIHECEFTNIMMESFAREMEZ. TEEOBYEHMOELEY,

anj
cu

PAM B FER Rl = (DR B RBEME +QENENRBHEE

':-_‘11’.'[['.!.

BRI LR/NT—

SEDEHE Bia 4.84|M/kWh
HASEDGE Bid 4.70|M/kWh
(1) AR B BRI 2 B = (P9 4R HiliA% — 26,000 ) x E#EE{H 1,000 = BEDGE 4.84]M/kWh
20244128 ~2025% 2 A EH DB S HT1& HAlBEDEZE 4.70|F/kWh
A: 1KY O TR iE 75519 A o: 0.1543
B: 1t&H 1Y D FHLNGlE 96,530 M 0.1322 = E A B iff 0.234 H
C: 1tH1=YDTHA R 22,788 M 7 0.9761 el = R A 2 B Al 0227 H
FEHRRFMERE = Axa +BXB +VXxy = 46700  (100MRHEERA)
(2) NENHBEM=A<BDIGE. HENFBEM=(A—B) x50 x 1 +HEHRE) = 0.00|F1/kWh
ASCOiGE . HENRHEBHEM=(A—C)x50%x (1 +HEREK) = 0.00|F1/kWh

A: BIADIT7 IS4 RFEHIE (Fitk) 9.37
B: ZEFBALEM Tk 5.00
C: BhnFREEEEE (Fitk) 13.00

UL




mEEATI7I[EE-FREE]

2025% S5A% MHEEFREBEMOSHLE

TRIEEAOHEREBY . EEABLEFET,

premz
!

BRI LR/NT—

BADBEIHEICEFTNIRMEFHABEME. TELOBYESHOoELET,

onji
cu

PAM B FER Rl = (DR B RBEME +QENENRBHEE

BEDIGE A 3.61|M/kWh

HAEEDIGSE B 3.51|H/kWh

(1) MR B AR Bl = (EH M —26,000) x E#EB{M 1,000 =
202412 A ~20255F2 A FHDE S aHEE

BEDSE

3.61

BABEDNSE

3.51

A: 1k 1=Y O FEHERMmE 75,519 © a: 0.2104
B: 1tdh1=Y DTEHLNGIHIE 96,530 M 0.0541
C: 1tHI-YDEHRRXME 22,788 M Y 1.0588

F/kWh
F/kWh

[SE=-%: 1A

0.188 M

Fral e EELEE

0.183 M

EHREMER = Axa +Bx S8 + VX 7y = 45200 H (100 KHmUIER A)

(2) NENREEM=A<BDIGE . HIENRABEM=(A—B) X505 x 1 +HHEREK) =
ASCOiGE  HENRBEM=(A—C)x50%x (1 +HERE) =

A: BIADIT7 IS4 RFEHIE (Fitk) 8.76
B: ZEFBALEM Tk 5.00
C: BhnFREEEEE (Fitk) 13.00

0.00

0.00

F/kWh
F/kWh

UL




AMBENIVZI[EE-FHHIEE]

2025% S5A% MHEEFREBEMOSHLE

TRIIWAHNDTHEESY. E<EILBALLIFET
BHOBIHECEFTNIMMESFAREMEZ. TEEOBYEHMOELEY,

anj
cu

PAM B FER Rl = (DR B RBEME +QENENRBHEE

BEDIGE A 2.02|M/kWh
HAEEDIGSE B 1.98|H/kWh

':-_‘1|:'.'I[l.-r

BRI LR/NT—

(1) MR B E M= (CEY RIS —27,400M) x E 4B 1,000 =

BEDSE

2.02

202412 A ~20255F2 A FHDE S aHEE

BABEDNSE

1.98

A: 1KY O TR iE 75,519 [ o: 0.0053
B: 1tH =YD FHLNGSTEHE 96,530 M 0.1861
C: 1t&H1=Y DFEHY A mEAfhitE 22,788 M r: 1.0757
FEHRRFMERE = Axa +BXB +VXxy =42900H  (100MKHEERA)

(2) NENAERBEMH=A<BDEE. BT HFHEEM=(A—B)x50% x (1 +HEFHE)
A>COIGE ., HNENABEM=(A—C)x50% x (1+HEMHREK)

A: BIADIT7 IS4 RFEHIE (Fitk) 8.52
B: ZEFBALEM Tk 5.00
C: BhnFREEEEE (Fitk) 13.00

F/kWh
F/kWh

[SE=-%: 1A

0.130 M

Fral e EELEE

0.128

0.00

0.00

F/kWh
F/kWh

UL




